
 

  

 

 

                                                                                   

 

 

 

                   

                                                                                                   

Equivalenze 
P1 kg M moli 

P2 kg V moli 

L1 m (zA-yA) - 

L2 m (xA-zA) - 

                           

V(xA, xB) 

M(yA, yB) 

xA 
xA, yA 

x
B
, 

y
B
 

yA 

xB 

A(zA, zB) 

zA 

yB 

zB 

(P1+P2) 

P1 
L1 

P2 

L2 

   
       
   

 

Equilibrio meccanico 

(P1 + P2)L1 = P2(L1 + L2) 

 

Regola della leva 

(M + V)(zA – yA) = V(xA – yA) 

(M + V)zA = VxA – VyA + VyA + MyA 

 


